odvzdusfiovaci  $rouby Lﬂ

objednavaci &islo popis A _J obj.¢islo popis
Metrické Tolerance +,- Imm Tolerance +,-1mm
M6x1
6125 A-25 S 6129 A-28 GEEEsLE .
B-14 GRS B-17 & e
OK-8 Lo 510 203 OK-7 0 510 20 30
6138 A-38 6139 A-39 f TS )
B-22 _ S R
OK-7 .0 510 20 30»3 OK-7 0 510 20 30 a0
M7x1
7122 A-22 7126 A-26 20‘&;‘ 4*'*;‘*
B-13 B-15 |5/ flimas
OK-7 OK-7 o 510 20 3
7128 A-28 7129 A-29  EECTHIEER
B-15 B-17 ¢ -
OK-7 OK-8 2 510 20 30
7130 A-30 7133 A-33
B-17 B-18
OK-7 OK-9
7138 A-38 7156 A-56
B-21 B-18
OK-7 OK-8
M8x1
8128 A-28 8132 A-32
B-13 B-19
OK-8 OK-8
8134 A-34 8138 A-38 L A
B-21 B-24 =
OK-9 OKs REste » * 8
M8x1,25
812525 A-25 812528 A-28
B-15 B-17
OK-8 OK-9
812532 A-32 812533 A-33
B-17 B-18
OK-9 OK-9
812535 A-35 812536 A-36
B-21 B-21
OK-8 OK-9
812541 A-41 812549 A-49
B-22 B-32
OK-9 OK-9




812565 A-65 812587 A-87 -
B-53 B-35 e
OK-9 OK-9
M9x 1,25
912532 A-32 o e
OK-10 | :
M10x1
10128 A-28 10130 A-26
B-14 B-15 o
OK-10 OK-10
10131 A-30 10132 A-32
B-17 B-20
OK-11 OK-10
10134 A-30 10135 A-34 B
B-18 B-20 . ‘
OK-10 OK-10 RIS |
10136 A-36 10137 A-37 LT
B-20 B-24 a
OK-11 OK-10  usic  20usi
10142 A-42 w e L
A S
OK-11 0 510 20 30 a0,
M10x1,25
1012528 A-28 1012533 A-33
B-18 B-18
OK-10 OK-10
M10x1,5
101529 A-29 2o -1 A
OK-10
M12x1
12131 A-31 e 12132 A-30
B-18 . WimcesE B-19 @
OK-13 =o' 510 20@ OK-12 0. 510  20..308
12150 A50
B-30 2
OK-12  [elsiolizelse




UNF

1/4“ x 28
142828 A-28 i 142829 A-29
B-17 ‘ B-16
OK-8 [0 510 20 0 OK-7
3/8“ x 24
382431 A-31 382437 A-37
B-19 B-25
OK-10 OK-10
5/16“ x 24
5162426 A-26
B-15
OK-8
vlozka s odvz.Sroubem
obj.&islo 1014.NPT | 2 =] obj.&islo 1018.NPT | e ‘
venk.zavit 1/4" x 27 NPT 10 ' venk.zavit  1/4* x 18 NPT o
odvz.8roub M6x1 o= odvz.8roub M10x1 [
obj.¢islo 1006
venk.zavit M10x1
odvz.$roub M6x1




